
23.2.21 Extended Challenge Tuesday  Subtraction Crossing 10 – 2 

 
Extended Challenge  

 

Complete each calculation. 

What question could Teddy have asked each time? The first 

one has been started for you.  

IMPORTANT : Each sentence different. 

1) 15 – 4 = _____ 

Teddy has 15 bears. He _________________________________ 

 

________________________________________________________ 

 

    2)15 – 11 = ____ 

        ________________________________________________________ 

        ________________________________________________________ 

 

2) 11- 4 = _____ 

 

 

 

 

 

  


